TITLE: 2017 STORM DAMAGE REPAIRS ON BELL SPRINGS ROAD, CR 324, M.P. 17.70

CONTRACT NO. 170055 DISTRICT: 1

DISTRICT: 1
COUNTY: MENDOCINO

ROUTE: 324

ADVERTISED DATE: March 29 & April 1, 2018 BID OPENING DATE: April 26, 2018

				Van Meter Logging, Inc. NO. 1 ENG		ENGINE	ENGINEER'S ESTIMATE		Construction vices D. 2
NO.	DESCRIPTION	UNIT	QTY.	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
110.	DESCRII HON	UIVII	_		S ROAD, M.P. 17		AMOUNT	TRICL	AMOUNT
1	Mobilization	LS	1	\$5,800.00	\$5,800.00	\$10,000.00	\$10,000.00	\$5,500.00	\$5,500.00
2	Construction Area Signs	LS	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$1,100.00	\$1,100.00
3	Traffic Control	LS	1	\$2,400.00	\$2,400.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00
4	Water Pollution Control	LS	1	\$850.00	\$850.00	\$3,000.00	\$3,000.00	\$2,600.00	\$2,600.00
5	Develop Water Supply	LS	1	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00
6	Roadway Excavation	CY	120	\$50.00	\$6,000.00	\$120.00	\$14,400.00		\$5,520.00
7	RSP (1/2 Ton, Method A)	TON	78	\$112.00	\$8,736.00	\$200.00	\$15,600.00		\$10,608.00
8	Nonwoven Fabric	SY	356	\$2.25	\$801.00	\$20.00	\$7,120.00		\$1,068.00
9	Class 2 Aggregate Base	TON	255	\$80.00	\$20,400.00	\$60.00	\$15,300.00	\$71.00	\$18,105.00
10	36" CMP (Single Section)	LF	30	\$140.00	\$4,200.00	\$150.00	\$4,500.00	\$317.00	\$9,510.00
11	ESA Fencing	LF	40	\$10.00	\$400.00	\$50.00	\$2,000.00	\$5.00	\$200.00
☆	Total: DBE Goal: Corrected Amount				\$53,087.00 20.81%		\$83,920.00 6.81%		\$60,711.00 0.00%

TITLE: 2017 STORM DAMAGE REPAIRS ON BELL SPRINGS ROAD, CR 324, M.P. 17.70

CONTRACT NO. 170055

DISTRICT:

COUNTY: MENDOCINO

ROUTE: 324

ADVERTISED DATE: March 29 & April 1, 2018 BID OPENING DATE: April 26, 2018

					rce Management O. 3	ENGINEER'S ESTIMATE		B&B Excavation & Drilling NO. 4	
	DESCRIPTION .		0.000.1	UNIT	11.forn.m	UNIT	. N. CANDUTT	UNIT	
NO.	DESCRIPTION	UNIT	_	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
			В	ELL SPRINGS	8 ROAD, M.P. 17	7.70		•	
1	Mobilization	LS	1	\$8,450.00	\$8,450.00	\$10,000.00	\$10,000.00		\$3,000.00
2	Construction Area Signs	LS	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
3	Traffic Control	LS	1	\$8,000.00	\$8,000.00	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00
4	Water Pollution Control	LS	1	\$1,800.00	\$1,800.00	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00
5	Develop Water Supply	LS	1	\$2,500.00	\$2,500.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00
6	Roadway Excavation	CY	120	\$30.00	\$3,600.00	\$120.00	\$14,400.00	\$208.33	\$25,000.00
7	RSP (1/2 Ton, Method A)	TON	78	\$95.50	\$7,449.00	\$200.00	\$15,600.00	\$83.33	\$6,500.00
8	Nonwoven Fabric	SY	356	\$3.00	\$1,068.00	\$20.00	\$7,120.00	\$1.69	\$600.00
9	Class 2 Aggregate Base	TON	255	\$56.50	\$14,407.50	\$60.00	\$15,300.00	\$80.39	\$20,500.00
10	36" CMP (Single Section)	LF	30	\$389.00	\$11,670.00	\$150.00	\$4,500.00	\$40.00	\$1,200.00
11	ESA Fencing	LF	40	\$5.00	\$200.00	\$50.00	\$2,000.00	\$2.50	\$100.00
☆	Total: DBE Goal: Corrected Amount				\$61,144.50 6.91%		\$83,920.00 6.81%		\$70,400.00 N/A

TITLE: 2017 STORM DAMAGE REPAIRS ON BELL SPRINGS ROAD, CR 324, M.P. 17.70

CONTRACT NO. 170055

DISTRICT:

COUNTY: MENDOCINO

ROUTE: 324

ADVERTISED DATE: March 29 & April 1, 2018 BID OPENING DATE: April 26, 2018

				I	Construction, nc. O. 5	ENGINEER'S ESTIMATE		Gregg Simpson Truckin NO. 6	
NO.	DESCRIPTION	UNIT	OTY.	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
		<u> </u>	B	ELL SPRINGS	S ROAD, M.P. 17	7.70	<u> </u>	L.	
1	Mobilization	LS	1	\$16,000.00	\$16,000.00	\$10,000.00	\$10,000.00	\$5,500.00	\$5,500.00
2	Construction Area Signs	LS	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
3	Traffic Control	LS	1	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$3,800.00	\$3,800.00
4	Water Pollution Control	LS	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,398.00	\$2,398.00
5	Develop Water Supply	LS	1	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00
6	Roadway Excavation	CY	120	\$60.00	\$7,200.00	\$120.00	\$14,400.00	\$120.00	\$14,400.00
7	RSP (1/2 Ton, Method A)	TON	78	\$150.00	\$11,700.00	\$200.00	\$15,600.00	\$110.00	\$8,580.00
8	Nonwoven Fabric	SY	356	\$10.00	\$3,560.00	\$20.00	\$7,120.00	\$5.00	\$1,780.00
9	Class 2 Aggregate Base	TON	255	\$60.00	\$15,300.00	\$60.00	\$15,300.00	\$150.00	\$38,250.00
10	36" CMP (Single Section)	LF	30	\$120.00	\$3,600.00	\$150.00	\$4,500.00	\$350.00	\$10,500.00
11	ESA Fencing	LF	40	\$10.00	\$400.00	\$50.00	\$2,000.00	\$10.00	\$400.00
☆	Total: DBE Goal: Corrected Amount				\$70,760.00 N/A		\$83,920.00 6.81%		\$90,608.00 N/A

TITLE: 2017 STORM DAMAGE REPAIRS ON BELL SPRINGS ROAD, CR 324, M.P. 17.70

CONTRACT NO. 170055

DISTRICT:

COUNTY: MENDOCINO

ROUTE: 324

ADVERTISED DATE: March 29 & April 1, 2018 BID OPENING DATE: April 26, 2018

				Morgan Creek Construction NO. 7		ENGINEER'S ESTIMATE		NO. 8	
				UNIT		UNIT		UNIT	
NO.	DESCRIPTION	UNIT	QTY.	PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
			B	ELL SPRINGS	S ROAD, M.P. 17	7.70			
1	Mobilization	LS	1	\$14,000.00	\$14,000.00	\$10,000.00	\$10,000.00		
2	Construction Area Signs	LS	1	\$3,500.00	\$3,500.00	\$2,000.00	\$2,000.00		
3	Traffic Control	LS	1	\$24,000.00	\$24,000.00	\$5,000.00	\$5,000.00		
4	Water Pollution Control	LS	1	\$5,500.00	\$5,500.00	\$3,000.00	\$3,000.00		
5	Develop Water Supply	LS	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00		
6	Roadway Excavation	CY	120	\$283.00	\$33,960.00	\$120.00	\$14,400.00		
7	RSP (1/2 Ton, Method A)	TON	78	\$400.00	\$31,200.00	\$200.00	\$15,600.00		
8	Nonwoven Fabric	SY	356	\$8.00	\$2,848.00	\$20.00	\$7,120.00		
9	Class 2 Aggregate Base	TON	255	\$125.00	\$31,875.00	\$60.00	\$15,300.00		
10	36" CMP (Single Section)	LF	30	\$250.00	\$7,500.00	\$150.00	\$4,500.00		
11	ESA Fencing	LF	40	\$6.00	\$240.00	\$50.00	\$2,000.00		
	Total:				\$159,623.00		\$83,920.00		\$0.00
	DBE Goal:				N/A		6.81%		N/A
\Rightarrow	Corrected Amount								